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73 96 27 4
86 89 14 11
48 75 52 25
79 72 21 28
6 35 94 65
22 39 78 61
38 57 62 43
54 89 46 11
71 76 29 24
66 91 34 9
33 69 67 31
70 80 30 20
58 67 42 33
73 71 27 29
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Model 1: A< w hZia
exp(Bo + B17)
p(r; B) = SR
1+ exp(Bo + f17)
Model 2 : 7Oty kZi

p2(r; B) = @(Bo + p11)
Model 3 : ZE X ZE A
p3(r; B) =1 —exp(—exp(By + B11))

AFHEFRHEBIAA 153 - AT LT RS

el UL ZLPA

2022E6 178 #METEBEMAERR A—T/\ X

TEHCHBIFTReyFI7HEROAS AT 4y 70IGETIL

tl:i_ T:_ %ﬁ -TI-X

Z 2T, riHERBEATCO®RILEZT,. BIREBTO®IbtEZE & L7
EED log(ra/rg)s B = (Bo,Br) WBHEET /87 X =% (7 M
INTG A =R T, Bo/P1 1TFTRATHETIREIN TS /N, T A/NT X —
127 5) ( O)IIEBEERDHORESHEHE T 5,
HEDER., TNZTNDOAY AT 4y ZEIBETILD/IRT XA —ZD
BRILIHETEEIS
B, =(-0.561,0.702)', [, =(—0.344,0.426)', B;=(—0.732,0.434)’
ICHE27ce ENTNDETIVTHETE INTZ/XT X — X DEIZHRETHYIC
BRIE27-DT, BILELITERBEIGICFEL WD EWR B,
ZZTIE. BETILDAICEZFNAL TRETILOEHAW, (Akaike,
1979) %5 E L., BIREESICOVWTETLZFEH LIz EDHTEES
BB LT B,

3
2 k(5 B

%2 i%ﬂ%ﬂ@m/X74/7nﬁ%7w:$ofﬁﬁéﬂt%
REEGZHR L TWD, BAIFSEFEALZREET —X%E2RK L TW5
X3 [FETILDOFEICL Y IHETE SN BIRE|ETH 5, ?—&ﬁ
ANTRICELDNBD LT e, #HES N p(r) BRBISRD L
W3, L7=h'> T, %Eémim@)¢%9<~§#éb ﬁﬂ#m%
EEZBLND,

=
| — Model 1
- « Model 2 o

)
o | =™ Model 3 o

Relative response rate
0.4

0.2

Logarithm of the reinforcement ratio

XN2. ZEETTIVICL YHEE S N/-EIRE S

1.0

0.6 0.8
|

Relative response rate
0.4

0.2

Logarithm of the reinforcement ratio

3. ETIILOFIC L YHETFE I NT-E

REI=

The Institute of Statistical Mathematics




